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[{(0.35x5.20)4—(41431§594£ix0.3)4—(3.60x0.50)4—(0.5x0.75)}x3.5nd]

+—[{({%x2.60x5.5)—-(g;x0.3x0.3)}x0.25x2]=:18.403nﬁ

.20) 4+ (0.5%2) 4+ (0.75x2)}x3.5m] + [ { (5.20) + (V 0.3%+0.3%)}x3. 0m]

{(5
+—[{(‘l’x2_60x5.5)——(g;x0.3x0_3>}X2]4‘[{(¢Eizﬁi;gigéxo.25X2)}]

s A 22 0l(mm) =& &20/(mm) ] vl
Wi D13 5800 28 162400
W2 D19 3500 18 63000
W3 D19 3674 8 29392
Fi D19 3500 14 49000
F2 D19 3748 6 22488
Fs D13 2850 28 79800
Fq D16 2226 7 15582
Fs D16 950 7 6650
Fe D13 3500 8 28000
Ki D16 2878 14 40292
Ko D13 3500 6 21000
Hi D16 3918 10 39180
H. D16 2621 18 47178

B D16 6845 2 13690
S D13 471 35 16485




